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In the diagram, AB and DC are parallel lines of equal length.
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Prove that angle DAB = angle BCD.
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11 (a) Are these two triangles definitely congruent?
Give a reason.
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(b) Prove that these two trianges are congruent.
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11 The diagram below shows two triangles.

Prove that riangle ABC is congruent fo iangle ACD.
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10 ABCD is a quadrilateral
AD = AB and CD = CB.
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Prove that angle ADC is equal to angle ABC.
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13 Aand B are points on the circumference of a circle, centre O.
CA'and CB are tangents to the circle.
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Prove that triangle OAC is congruent to triangle OBC.
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10 ABCD is a parallelogram.

A

Prove that triangle ABD is congruent to trangle CDB.
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Circle the reason why these triangles are congruent.
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A, Band C are points on a circle.
CDis a tangent.

Assume that triangle ABC is sosceles with  AC = BC
Prove that AB is paralel o DC.

Not drawn
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20 (b)  Infact, triangle ABC is equilateral

Tick the two boxes for the statements that must be correct.
11 mark]

AB s paraliel o DC

AC bisects angle BCD

AC bisects angle BAD.
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1 Here are four triangles.
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Circle the reason why these triangles are congruent.
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“This shape is made from two triangles and four congruent paralielograms.

For each statement, tick the correct box.

The trangles are equiatera,

Must be true

Could be true

Must be faise:

The trangles are congruent.

Must be true

Could be true

Must be faise:
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Which of these s not used to prove that triangles are congruent?

Circle your answer.
[1 mark]
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4 The diagram shows four triangles.
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Tevo of these triangles are congruent.

‘Wite down the lefters of these fwo triangles.
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14 The diagram shows a rectangle, ABDE, and two congruent triangles, AFE and BCD.
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area of rectangle ABDE = area of riangle AFE + area of triangle BCD
ABiAE=1:3
Work out the length of AE.
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4BCD s paleogram.
157 and ODC e stght ines.
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(Total for Question 21 is § marks)





image4.png
12 45CD s 3 pasleogram.-

25 the o vhrethe dingonals AC and 5D mest.
‘rove t iangle 5 i congruent o iangle CDE.
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Po-PR.
Sis the midpointof PO.
s the midpoint of PR

Prove tingle QTR is congruent o triangle RSQ.
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